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Assignment

Evaluate each expression.

1)  log3 9 2)  log7 343

3)  log3

 

1
243

4)  log7 49

5)  log3 81 6)  log2 8

7)  log6 36
8)  log3

 

1
9

9)  log3 27 10)  log4 64

11)  log2

 

1
4

12)  log2 64

13)  log4 16 14)  log2 4

15)  log5

 

1
125

Rewrite each equation in exponential form.

16)  log4 64 = 3 17)  log8 64 = 2

18)  log15

 

1
225

 = −2
19)  log12 144 = 2

20)  log49 7 = 

 

1
2

Rewrite each equation in logarithmic form.

21)  

 

16

 

1
2  = 4

22)  

 

192 = 361
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23)  

 

152 = 225
24)  

 

(

 

1
12 )

2

 = 

 

1
144

25)  

 

42 = 16

Sketch the graph of each function.

26)  

  

y = 

 

3 ⋅ 
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27)  

  

y = 

 

5 ⋅ 

 

2

  

x

x

y
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28)  

  

y = 

 

4 ⋅ 

 

(

 

1
2)

  

x

x
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Identify the domain and range of each.  Then sketch the graph.

29)  

  

y = 

 

log

 

1
3

(

   

x + 6) + 1

x

y

−8 −6 −4 −2 2 4 6 8
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−4

−2
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30)  

  

y = 

 

log3 (

   

x − 1) + 3

x

y
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−2
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31)  

  

y = 

 

log3 (

   

x − 1) + 2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8
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Assignment

Evaluate each expression.

1)  log3 9

2

2)  log7 343

3

3)  log3

 

1
243

−5

4)  log7 49

2

5)  log3 81

4

6)  log2 8

3

7)  log6 36

2
8)  log3

 

1
9

−2

9)  log3 27

3

10)  log4 64

3

11)  log2

 

1
4

−2

12)  log2 64

6

13)  log4 16

2

14)  log2 4

2

15)  log5

 

1
125

−3

Rewrite each equation in exponential form.

16)  log4 64 = 3

 

43 = 64

17)  log8 64 = 2

 

82 = 64

18)  log15

 

1
225

 = −2

 

15−2 = 

 

1
225

19)  log12 144 = 2

 

122 = 144

20)  log49 7 = 

 

1
2

 

49

 

1
2  = 7

Rewrite each equation in logarithmic form.

21)  

 

16

 

1
2  = 4 log 16 4 = 

 

1
2

22)  

 

192 = 361
log19 361 = 2
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23)  

 

152 = 225
log15 225 = 2

24)  

 

(

 

1
12 )

2

 = 

 

1
144

log

 

1
12

 

1
144

 = 2

25)  

 

42 = 16
log4 16 = 2

Sketch the graph of each function.

26)  

  

y = 

 

3 ⋅ 
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27)  

  

y = 

 

5 ⋅ 
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28)  

  

y = 

 

4 ⋅ 

 

(

 

1
2)

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

-2-



©t A2O0B1C3T 9KpuAtEa2 BSeoMfxtOwHahrjeO nLULNCT.B N NALlxlC GrgihgYhgtVse vrzefsLeyrfvpeQdQ.I C GM5aqd4eN cwBiwtahp TI Vnqf5i lnmiFtTeG RANlhgBehbSrMaf 22g.U Worksheet by Kuta Software LLC

Identify the domain and range of each.  Then sketch the graph.

29)  

  

y = 

 

log

 

1
3

(

   

x + 6) + 1

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8 Domain: 

  

x > −6
Range: All reals

30)  

  

y = 

 

log3 (

   

x − 1) + 3

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8 Domain: 

  

x > 1
Range: All reals

31)  

  

y = 

 

log3 (

   

x − 1) + 2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8 Domain: 

  

x > 1
Range: All reals

-3-


